A% (AYSR) AfI#% (B2 3 X)
B B - $F1054:02 8268 AEBET L7 AR

JERL | K % OUT | IN = GR | HDCP | NET wE |ER K % OUT | IN | GR | HDGP | NET wE OUT | IN | GR | HDGP | NET wE |EEZ K % OUT | IN | GR | HDGP | NET wE

39 40 79 7.4 T1.6 RR4FO 48 42 | 90 21.6  68.4 ~Ax4nO

43 43 86  13.1 | 72.9 49 | 53 102  32.6 69.4

41 46 87 12.1 | 74.9 49 | 44 93 | 21.1 | T1.9

42 46 88 12.8 | 75.2 45 | 50 95 | 22.3 | 72.7

45 40 8 9.2 | 75.8 43 | 48 91 | 17.0  74.0

44 44 88 11.7 | 76.3 48 | 45 93  18.6 74.4

17 B BX 38 46 84 1.3 | 76.7 1 R —E 48 | 46 94 | 19.4  74.6
8 Xig Fx 42 48 90 13.1 | 76.9 8 |=:H =8 48 48 | 96  21.0 | 75.0
9 &Hh AKX 44 | 48 92 14.4 T77.6 9 AIM A 45 | 50 © 95 | 19.6  75.4
Ki% <P 42 | 41 | 83 5.2 77.8 n#ﬁﬂlﬁ FHM 46 | 50 @ 96 | 20.1 | 75.9
1M Ik 25 45 | 42 | 87 1.3 1 79.7 11 g %= 48 | 48 96 | 18.4  T77.6
12 Ik ik 45 | 47 92 12.1  79.9 12 |NEBE =ZzB1 50 46 | 96 18.3 | 71.7
13 WiR &% 44 | 48 92  11.5 80.5 13 |IE #E 51 | 49 100 | 21.3  78.7
14 B% EBEZ 48 | 46 94  13.2 80.8 14 HR #Bx 46 | 52 98 | 18.0  80.0
15 HE 1 45 | 51 96  12.7 83.3 15 gk = 52 | 56 108 @ 24.9  83.1
16 #EHE 8 52 44 96  11.9  84.1 16 =& B— 49 | 52 101 | 17.7 | 83.3
17 MR kR 43 45 88 3.3 847 17 =& %% 52 | 50 102 | 16.1  85.9
18 #X EHEA 47 | 53 100  14.3 85.7 18 B% RX 59 | 74 133 | 36.0  97.0

19 {EB i 45 40 8 -0.8 | 85.8

*EE fE 53 48 101  13.1 | 87.9

21 RAE EF 49 53 102  13.1 | 88.9




